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.9= 292 _ o020,
5) 2.9_.229 229/
6) 4+5=.80=80%
7)) 1+2=.50=50%
3= 662 = 662%
8) 2+8=.66%=665%
9) .75X=75
X=10
10) .75(10)=7.5
75=7.5
11)  1.4X +5=6.82
1.4X =1.82
X=1.3
12)  1.4(1.3)+5=6.82
1.82 +5=6.82
6.82 =6.82
1
13) 13337
A
14) 2437
15) 1+5+9=15
15+3=5
16) 2+2+5+7=16
16+4=4
17)  75x1.30 =97.5 Ibs.
18) 45+31+45+31=152in.
19)  3.14(60)2 = 11,304 'sq. ft.
20) 3.5x 1,000 = 3,500 m

Test 25

1)

2)

3)

4)

7)

8)

9)

10)

11)
12)
13)
14)
15)
16)
17)
18)

19)
20)

8+13+17+17+19+4+19+19=112
mean=112+7=16
median = 17

mode =19

70 + 80 + 80 + 90 + 100 = 420
mean =420 +5 =84
median = 80

mode = 80
8+8+9+10+15=50
mean=50+5=10
median =9

mode =8
3+3+6+7+11=30
mean=30+5=6

median =6
mode =3
53

100

L T S
100 25

= -1- -1°°
28 +40 .572 572/

§ g 2 _6620
476...66:3 663/0
9X+34=79

X =4.5

X=.5

9(.5)+84=7.9

45+34=7.9

79=79

10x 10 =100

3x3x3=27
1Tx1x1x1x1x1=1
9+1+9+1=38m
9Ox.8=.72sq.m
9.7+9.7+9.7+9.7=38.8 1t
9.7 x 9.7 = 94.09 sq. ft.
24+2+3+3+4+4+4+6+8=36
average,ormean=36+9=4
most often, or mode = 4

middle, or median = 4
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Test 26 Test 27
1) 10 1. 1) endpoint .
1000 100 2)  length; width
300 _ 8
2 7000 " 10 3 ray
3 700 _ 7 4)  line segment
1000 10 5)  length; width
A2 6) ¢
4 10 5
7y d
4 _2
5 {075 8
9 b
8 L
10 10) a
7) 3+7+8+8+9=35 11) %
mean=35+5=7 < <>
median = 8 12) QRorRQ
mode =8 13) 1+1+1+42+5=10
8) 9+9+12+13+17=60 mean=10+5=2
mean=60+5=12 .
median = 12 14)  median=1
mode = 9 15) mode=1
TR 16) 2.665
10 gk 17) 13
92 23
10 100" 25 19 > 4
1
9 19 5
" T00 2
50 1
825 33 20) =t
12 7000 ~ 0 1002
i 1 1 8+2=4
o=, —_—— —%
18) e 333 333/ 4 x 1 = 4 chores done
.g- g7t _g7lo
14)  7+8=.875=875%
15)  3.14(6.4) = 20 ft.
16) 200x.16 =32
17) 500 meters
18) 18
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